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Worksheet C: Available equipment

&)

avoltmeter and an wire of different types
ammeter and thicknesses

——
connecting wires

- J]

a power supply

——
ametre rule

|

crocodile clips insulating tape
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WorksheetD: Experimentplan

Use the space below to plan your experiment to investigate the factors that affect the resistance of awire.

Circuit diagram

Independent and dependent variables:

Safety considerations

Brief outline of how the experiment will be carried out:
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Worksheet A: Observations @

Work in pairs and look at the images below. Ask yourselves the following questions and make a
note of your ideas:

* What do you notice about each picture?

e What do you think could happen next?

* What observations can you make about electrical safety?

« Give feedback on your observations to the rest of the class
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WorksheetB: Ohm's Law @

Read the following information and complete the questions below.

The electrical resistance of awire is a measure of how difficult it is to pass an electric current
through that wire; the higher the resistance, the smaller the current. Resistance is measured in
ohms (Q).

The resistance of acomponent can be found by measuring the current flowing through it, and the
potential difference across it.

Below is the relationship between potential difference, current and resistance:

V=IxR

Vis the potential difference in volts (V)
Iis the currentin amperes (amps, A)
R is the resistance in ohms (Q)

To find the resistance the equation can be rearranged:
R=

v
1

For example:
If a current of 6 A flows through a 240 V lamp, what is the resistance of the lamp?
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WorksheetB: Ohm's Law @

1. Calculate the current in the circuit below:
3%

120

2. Calculate the resistance in this circuit:
&V

]

1t

3. A 50 Qresistor has a current of 3 A flowing through it. Calculate the potential difference across
the resistor.

4. A 600 Qresistor has a current of 0.8 A flowing through it. Calculate the potential difference of the
circuit.

5.1n a cell phone the keyboard circuit has a resistance of 4000 Q. The potential difference applied
across the circuitis 1.6 V. What is the current in the keyboard circuit?
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